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(i) (a + b)?=a? + 2ab + b?, (i) (a - b)>=a? - 2ab + b?,
(iii) (a + b) (a - b) = a? - b?
TRt T T <hT SURINT Shieh T =il | 3ferd e fafe |
) (X+2y) =X+  |+4y
(i) 2x - sy)2 = |-20xy+[ |
(i) (101)2= (100 + 1)>=[ |+[ [+12=[ |
(iv) (98)2 = (100 - 2)>=10000-| |+| |=| |
(V) sm+3mem-3ny = |-| [=] |- |
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FHA ;TG qYT T o &R hl TEEATH (X + @) (X + b) 1 forar HIfT |

X b
X | x2| xb
. b
ax ab =X Xx+a + X+a

X
(X+a)(x+b)=x*+ax + bx + ab

(x+a)(x+b)=x*+(a+b)x +ab

@I) (X + @) (X + b) = faar (Expansion of (X + @) (X + b)D
(X +a) qm (X + b) fep1 v ug TmH 2 W& gfaug 2 | T8 gfade st 1om hifv |

X+a)X+h)=xX+b)+ax+b)=x>+bx+ax+ab

=x*+(a+b)x+ab
X+a)X+h)=x2+(a+b)x+ab




feream <hifso |

QL (1) X+2)(X+3) =X+ (2+3)X+(2%x3) =X*+ 5X+ 6

IqL(2) (Y+4)NY-3) =Y+ (4-3)y+(4)x(-3) =y +y-12

3en. (3) (2a+3b)(2a-3b) =(2a)’+ [(3b) + (- 3b)]2a +[3b x (-3b)]
=4a°+0x2a- 9b*=4a-9b’

3 ! 3 1) 3 1 3
. m+= | m+=| =M+ |5F5 M+ =X - =M +2M+ =
341, (4) ( 2)( 2) +(2 5 + 3 %2 +2 + 3

3@ (5) (X-3)(Xx-7) =x>+(-3-7)x+(=-3)(-7) =x*-10x+ 21
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1. fomrhifsu |
(1) (@a+2)(a-1) (2) (M=-4)(M +6) (3) (p+8)(p-3)
(4) (13 + X)(13 - X) (5) (3X + 4y)(3X + 5Y) (6) (9X = 51)(9X + 31)
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(1) (a + b)* = far (Expansion of (a + b)3)>

—\

A&

(@+by=(a+b)y@+b)@+b)=(a+hb)@+h)
= (a+ b)@ +2ab + b?)
=a(a*+2ab + b?) + b(a + 2ab + b?
=a’ + 2a’b + ab’ + ba* + 2ab* + b’

=a’+3ah +3ab*+ b’

(a+b)y=a+3ab+3ab>+b°

39 TIER 3 1 STANT Hleh & (oY T HS ITET b STEII il
3an. (1) (X +3)°

(a+bh)y’=a+3ah +3ab*+ b’ Jgia=Xaab=3%1



X3P = (X HE3XXEX3+3 XXX (3)+ (3)°

=X+ 9+ 27X +27

3a (2)  (3X + 4Y)° = (3X) + 3(3X)%(4Y) + 3(3X)(4Y)? + (4y)°
= 27X’ + 3 X 9X* X 4Y + 3 X 3X X 16Y* + 64y’
= 27X’ + 108Xy + 144Xy* + 64 Y’
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3. (4) (41)°=(40+1)°=(40)° + 3 x (40)> X 1 +3 x40 x (1)* + (1)’

= 64000 + 4800 + 120+ 1 = 68921
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M k+4F @O+’ G T+M @)
(5) (101)° (6) (x+1]3 (7) [zmlf (8) (S—HLJ
X 5 vy  Sx

Wi ;I GAYUT ¥ a T b YSTC et ITHT-HT & FHeH SARY | T6T8 U9 9IS
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Qm) (@ - b)* = feamar (Expansion of (2 — b)3)j>

(a-b)=(a-b)(a-bh)(@-b)=(a-bhya-b)
=(a-b)@ -2ab +b?
= a(a’-2ab +b? - b(a? - 2ab + b?)



=a’-2a’h +ab’-a*h +2ab’ - b’
=a’-3a’h + 3ab’-b’
(a-b)=a’-3a’h +3ab’-b’

3. (1) fewar i (x - 2)°

3. (2)

(a-h)y=a-3ab+3ab’-b* =@, a=xauwb =2,

(X=-2P=(X)P-3xX2x2+3xXx(2)2-(2)°
=X*-6X2+ 12X - 8

(4p - 5Q)° =1 ToEaR T |

(4p - 5Q9)° = (4p)° - 3(4p)*(5Q) + 3(4p)(5Q)* - (5Q)°

(4p - 50)° = 64p° - 240Pp°Q + 300PQ> - 125¢°

3a1. (3)  fosar g3 1 3T S Ed i (99)° = (100 - 1)°

(99)°= (100)* - 3 x (100)>X 1+ 3 x 100 x (1) -1°
= 1000000 - 30000 + 300 - 1 = 9,70,299

341 (4) A w9 T

(D) (p+0)+(p-0)=p'+3p°q+3pq° + 0 +p’-3p°q+3pq° - O’

=2p’ + 6pQ°
(i) (2X + 3y)’ - (2x - 3y)*
= [(2X)* + 3(2X)*(3Y) + 3(2X)(3Y)* + (3Y)’]

= [(2X)° = 3(2X)*(3Y) + 3(2X)(3Y)* - (3Y)’]
= (8X°+ 36X%Y + 54XY* + 27Y’) - (8X’ - 36X%Y + 54Xy* - 27Y°)
= 8X® +36X%Y + 54XY* + 27y’ - 8X® + 36X%Y - 54XYy* + 27y’

= 72X + 54y°
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(i) (a+ b)y’=a’+3a’b + 3ab>+ b’ =a’ + b* + 3ab(a + b)

(i) (a-b)’=a’*-3a’h +3ab’-b*=a’-b*-3ab(a-b)
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1. formam shifr |

(1) (2m - 5)° (2) (4-p)° (3)(7X - 9y)’ (4) (58)°

) L) 1y x_3Y)

(5) (198) © -1 o] ®F3
2. T &9 T |

(1) 2a + b)* - (2a - b)? (2) (3r - 2K)* + (3r + 2k)°

(3) (4a-3)’ - (4a + 3)° (4) (53X =7Y)* + (5X + 7y)°

e 9=

@IV) (@ + b+ c)* = faar (Expansion of (a + b+ C)ZD

(a+b+c)? =@+b+c)x((a+b+0)
—a(@+b+c)+b@+b+c)+c@+b+c)
—a’+ab+ac+ab+b*+bc+ac+bc+c?

=a+ b+ c?+2ab + 2bc + 2ac

sl@+b+c)=a’+b>+c?+2ab+2bc + 2ac TR gF I BT R |

3a. (1) fommrdm (p + g+ 3)?
=PP+ P+ 3+ 2XPXO+2XOX3+2XPX3
=PP+P+9+2pg+6Qg+6p =P +QF+2pg+ 60+ 6P +9
3q1. (2) o foar o g9 <hi =ivee 1 3fud ve fafeu |
(2p + 3M + 4n)?

= 2P+ (3MY2 + [ |+2x2px3M+2x[_|x4n+2x2px[ |
= 1+om*+[ [+ 12pm+[ |+ |
3a. (3) w@wm e (I +2m +n)? + (I - 2m + n)?

=P +4m*+n*+4lm+4mn+2In + P+ 4m? + n? - 4lm - 4mn + 2In

=21+ 8 m*+ 2n? + 4In
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1. fo=m&ifSe (1) 2p +q + 5)? (2) (M + 2n + 3r)?
(3) (3x + 4y - 5p)* (4) (7m - 3n - 4k)*

2.  WASHINT (1) (X -2y + 3)2 + (X + 2y -3)?
(2) (3k =4r -2m)* - (3k + 4r - 2m)*  (3) (7a- 6b + 5¢)* + (7a + 6b - 5¢)*

=3
e’ FA
ggEng 5.1 (1) a’+a -2 (2) m?+ 2m - 24 (3) p>+ 5p - 24
(4) 169 - X2 (5) 9X? + 27Xy + 20y*  (6) 81X - 18Xt - 15t
5 14 1 1 5
Hym-sm- — Xt - — —_2_36
(7) 3 5 (6) - (9) 7y
ugaEme 5.2 (1) K+ 12k* + 48K + 64 (2) 343X° + 1176X%Y + 1344XYy* + 512Y°
(2) 343 + 147m + 21m*+ m*  (4) 140608 (5) 1030301
(6) X'+ 3K+ 2 + > (7) g 4 2%, 6m 1
X X 25 125
(8) 125%° FRCLINE) 2N y
y’ y  5x 125x°
TAETE 5.3 1. (1) 8m*- 60m? + 150m - 125 (2) 64 - 48p + 12 p* - p°
(3) 343x’ - 1323x%y + 1701xy* + 729y°  (4) 1,95,112
3001
5) 7762392 6) 8p° - 6p + ——
(5) (6) 8p’ - 6p p 8P
33 1 3
Ty X 9 27
(7)1 APEI (8) 27X
2. (1) 24a’h + 2b° (2) 54r° + 72 rk?
(3) -288a* - 54 (4)250%> + 1470 Xy?

.

agaETE 5.4 1. (1) 4p* + q° + 25 + 4pg +10qg + 20p
(2) m* + 4n*+ 9r* + 4mn + 12nr + 6mr
(3) 9X* + 16y* + 25p*+ 24 Xy-40py-30pX
(4) 49m* + 9n* + 16k* - 42mn + 24nk - 56km
2. (1) 2X* + 8y* + 18 - 24y (2) 32rm - 48kr
(3) 98a* + 72b* + 50¢* - 120bc



